Expressions & Equations.notebook September 23, 2020

Wri—lﬁnj ?thons a3
From v word Problems

¥ Bemember 4o Wrile an ey pfession for
ach "missms" Piece 0 help Get Wp Yowr
Qq uation. (Le_-\— Sh-\(men@ -
L Semething IS usual st a "plainold X,

Jackson hes A more (poKses Fhan Landon. Thyeke
hey have h. How nom fo Ahe § €ach have)
Let Landon = X :35?0/4(5‘(_!2%&: 6

Lei’J'ad(Sm=)(+Z= oL g,(f#_é
ix:
Sep 18-8:10 AM

Key Words for Algebra word problems:
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1 Kendal bought x boxes of cookies to bring to a
party. Each box contains 12 cookies. She decides
to keep two boxes for herself. She brings 60
cookies to the party. Which equation can be used
to find the number of boxes, x, Kendal bought?
1) 2x-12=60
2) 12¢-2=160

12x—24 =60
24—12x =60

2 John has fourmoremckelsthandnnesmhs A. .IOX

pocket, for a total of $1. 1
be used to determine the 0 5( )f)
1) 0.10(x +4) + 0.05(x) = $1.25 n -V, X+

pocket?

0.05(x +4) +0.10(x) = $1.25
3 0.10(4x) + 0.05(x) = $1.25
4)  0.05(4x)+0.10(x) = $1.25
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3 A gardener 1s planting two types of trees: A - B
Type A 1s three feet tall and grows at a rate -
of 15 inches per vear.
Type B is four feet tall and grows at a rate

of 10 inches per vear. . é_}_ /SX
Algebraically determine exactly how many vears 1t .

will take for these trees to be the same height. . l{g'}' ) 0 X
3 + [Hx= 48 +ID& b
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